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Instructions for Candidates

1.
2.
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Write your Roll No. on the top immediately on receipt of this question paper.

Attempt any five questions.
Answers may be written either in English or in Hindi; but the same medium should

be used throughout the paper.
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Discuss various sources of Business ideas. Justify why all ideas cannot be

converted into opportunity (20)
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Discuss few entrepreneurial opportunities which has arisen due to the giobal

phenomenon in the approach to economic deve!opmentz. (20)
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“Small Business |s the Seedbed of Entreprenearship”. Elucidate this statement.

(20)
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“Sensing a business idea sometimes is influenced by external environment as well

as by the personal;ily of the individual.” Discuss. (20)
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Write a note on ‘how can franchising be as better business option? (20)
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Discuss various methods of feasibility study undertaken for evaluating a business'

proposal. (20)
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Write a note on (a} Test Marketing and (b) Prototype Development  (10,10)
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Why a business plan is considered as Entrepreneurs-dream? Explain while

elaborating the components of a Business Plan. (20)
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This Section is meant only For Hearfnglvig‘;al-impaired Candidates (Al

questions are compulsory and carry equal marks)

(Answer the most suitable one from the following)
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Identify the correct statement from the following:

(i) ldeas developed through personal observations can easily be considered for

business.

(ii) Creative process is not essentially required for entrepreneurial orientation.
(iii) There is no single source for devising business ideas.

(iv) None of the above. (10)
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The present environment is conducive to entrepreneurship because of
(i) State’s support for promotion of private investment
(i) Special law passed by the govt. for promotion of entrepreneurship

(iii) More involvement of people belonging to business families

(iv) Absence of society’s support for govt.job. - ' .(10)
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WTO is an organization that deals with:
(i) Recsolution of conflict due to political difference between countries

(1) Resolution of grievances arising out of trade related conflicts between different

countries
(i) Trade related problems within India are settled through this agency
(iv) Engaged in promotior: of sports among nations of the World (10)
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In a franchising business which one of the following is correct
() - The franchisee can sell according to his own method

(ii) The franchiser provides .he financial as well as training needs of the employces
of the franchisee.
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(if) Franchisee can sell other similar competitive products from the same outlet

(iv) None of the above. (10)
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Financial feasibility takes into account.;

(1) The annual expected rate of return that justifies Investment.

(i) Explore the alternative sources of availability of Capital.

(1i1) Deficit in the finance and their planning.

(iv) Ability to pay Dividend. (10)
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The concept of ‘Net- working’ can be easily prac |ced for promotion of business
or initiating a new one because: '

@) Ttis just like an ordinary business



(ii) It can be operated with a very modest start without much launching
expenditure. |

(i) Here profit is very high

(iv) It does not require any expertise for starting a business. (10)
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‘A Business Plan’ cannot take into account
(i) Marketing Plan
(i) Production Plan
(iii) Guranteed Demand of the product
(iv) Financial Plan _ (10)
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‘A prototype development helfps Entrepreneur (o
=i

(i) Sell the product at a cheaper price

(i) Plan the finance of the business

i
(iii) Develop the ideas as to the existing technology and the commensurate

production process for it in a conditioned environment.

(iv) Deal with the bureaucratic needs of running the b.usiness. (10)
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Administrative feasibility takes care of

(1) verifying the ability of entrepreneur in regard to hisf;her managerial capability
(i) dealing with no. of employees

(i) Economic justification of having a particular size of employee

(iv) None of the above. (10)
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Which of the following statement is correct:

(i) Business Process Outsourcing is a method where the organization, after
completion of production activity go out for demonstrating its product for

better sales performance.
i

(i) Organisation must encourage its employees to go out of box thinking for '

creating a dynamic orgation.

(i) Technological feasibility study is a must before the business decision as it

helps entrepreneur to get technology from abroad.

(iv) The changing world economic environment is negating growth of

entrepreneurship. (10)
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